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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Identify which of the following will appear on the debit side in the
Capital Account of India’s Balance of Payments. 1

(A)  An Indian sending remittances from England
(B) Investing in assets abroad by Indians
(C) An American company purchasing shares of an Indian company

(D)  Export of spices from India

Identify which of the following is not one of the merits of fixed exchange
rate system. 1

(A)  Ensures stability in exchange rate
(B)  Possibility of under or over valuation of foreign currency
(C)  Prevents speculations in foreign exchange market

(D)  Coordination of macroeconomic policies becomes convenient
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https://www.collegebatch.com/exams?utm_source=pdf

EyE ™ collegebatch.con

3. Tfiad shemi o1 eamyee e HifvT 1
FYT 1 : SUMNT HBod UM I 9=d & St= oY T I HAT 8 |
FYT2 : IYUT B h q Hh Bl & — T 9T I YRG 39T |
feu U seET % AT H, faiad # ¥ wE) faeed w1 =e hifvie

(A)  HIT 19T g 3 hYF 2 39T 2 |

(B) I 130T 2 3N FAT 2T 2 |
(C) YT 13N 2T G B |
(D) <Y 1 3R 2T A9 B |

4. TAfaRad HeAT o1 SHYES AT HIT - 1
Hy7 1 : Toel g w1 arfeler & @ Ui wie wh € B § |
FHYT2 : WRA H FHNEH A, YRA o M &7 F1 &6 3 |

fau U el o aTqres H, FEfRed 9 | w8 foehed w1 =9 HINT
(A) AT 19T B 3N H9T 2 36T B |

(B) YT 130T 2 3N FAT2TT 2 |
(C) HIT 13N 23 T B |
(D) YA 1 37K 2 T AFT B |

5. ¢ (A T (CRR) % Hed T, 37gF I hl IgdM HIT : 1

(A) IE T 9 FEY SHT SIS ol Teh Hivea afawd g, N9 I S &t
ST Seh o UTH Tohe SR (TNMT) ®9 4 W1 BT © |

(B) I8 hcl¥ deh g fFuifa foram STan 2

(C) I8 OIS skl W S1egehi) Tl 2T 2 |

(D) 98 S s gl AdeTawEdt ¥ wrg i ot fefka w0 ° 99w ue
YL BT B |
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3. Read the following statements carefully : 1

Statement 1 : A consumption function describes the relationship
between consumption and savings.

Statement 2 : Consumption function consists of two components —
autonomous consumption and induced consumption.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D)  Both Statements 1 and 2 are false.

4. Read the following statements carefully : 1

Statement 1: Economic territory and political frontier of a nation are
one and the same thing.

Statement 2 : American Embassy in India is a part of the economic
territory of India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B)  Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D)  Both statements 1 and 2 are false.

5. Identify the incorrect statement with reference to Cash Reserve Ratio
(CRR) : 1

(A) It is a certain percentage of demand and time deposit liabilities
that every bank must keep as cash reserves with the Central
Bank.

(B) It is fixed by the Central Bank.
(C) It is not binding on the commercial banks.

(D) It is a tool used by the Central Bank to control the credit creation
in the economy.
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6. TmfiRed foF #1 =aMYE® 3Te@q hive a1 Rk o= 61 gfd & e a8t
fahed T == I : 1

=

A fEw (B) HaT3T 1 AR
(C) gl =R (D) T80 FgrRdl

7. Tafafiaa oMt @1 eaHgEs TeE hIT 1
Fo7 1 : gl 98 a&] 7, o wnaweran faf g @ areem o €9 4 Tier fom
ST 8 |

FYT2 : gl 7 LIRS oh Gral TN hl THEAT I §A TohaT T |

feu T oMl & A H, efaRad # 4 gl faeed o1 w3H hifve -
(A) T 19T g 3T HIH 2 30T § |

(B) Y 130T 2 MM FA 2T 2 |

(C) YT 13 2T TcF % |

(D) $YF 13 2THT FFH B |

8. UMW iVt fo ush wrcules deyewen U, W™ IUWT = T 500 HUS qAT

Ho7a 3 Ygfd = 0-8%8 | @ AR b U sFd e FA |

(T=h T 9 & fow T foshew &1 =@ difvm) 1
(A) 500+ 0-8Y (B) (=) 500 + 0-8Y
(C) 500+ 0-2Y (D) (=) 500 + 0-2Y
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6. Study the following figure carefully and choose the correct alternative to
fill in the blank : 1
Balance of
Payments
Account
|
| |
Current Capital
Account Account

|

Trade in Transfer
merchandise Payments
Alternatives :
(A) Investments (B) Trade of Services
(C)  External Borrowings (D) External Assistance
7. Read the following statements carefully : 1

Statement 1: Money is a commodity which is generally accepted as a
medium of exchange.

Statement 2 : Money solved the problem of double coincidence of wants.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B) Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D)  Both statements 1 and 2 are false.

8. Suppose in an imaginary economy, autonomous consumption = ¥ 500 crore

and marginal propensity to consume = 0-8. The saving function for the

economy would be

(Choose the correct alternative to fill in the blank) 1
(A) 500+ 0-8Y (B) (=) 500 + 0-8Y
(C) 500+ 0-2Y (D) (=) 500 + 0-2Y
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9. frafufed Homi 1 ufew : SR (A) 3 FWON (R) | 9 fw Mo e
& e formhen T - 1

STYHYT (A) : AW H FgeH T q9 [gid gl 7, 99 YA =9 T
TITRIA 391G Teh-GER o IS BId 3 |

HRU(R) : ™ Wl Gga TR, Icd1ed o qU1 USHTR T o T AT STHHH
&l Hohdl 2 |
foeped -
(A) AR (A) 3R FROT (R) GHI §A & 3R R (R), AHHAA (A)
& ST T 2 |

(B) AR (A) JR ST (R) Al TcT 8, Afhd RO (R), AR (A)
1 T T 7gT war |

(C)  3TYYHI (A) T &, Wlhd HRUT (R) 6 7 |

(D) 3R (A) T 7, Afehd I (R) T 3 |

10. Tr=faRgd wemt o1 Fegaa e ; 3rfisped (A) TR SR (R) | = fow @
foredi o @ Tt famred giw - 1
ST (A) ; W@ S=d Igrd (MPS) I Uehad oI s 8 Tohdl @ |
HRU(R) : T o THER W, F9d IJ Bl & |
faeney
(A)  AMHAT (A) R SR (R) A T 8 R R (R), ATHAT (A) hl
T ST T 8 |

(B) AR (A) IR ST (R) Al TcT 8, Afhd RO (R), AMTHAT (A)
&1 &l AT FgT a1 2 |

(C) 3R (A) T B, Wik RO (R) I8 3 |

(D) 3R (A) T 7, Afehd I (R) T 3 |

NN o N

11. (%) “YTaW 9ged @d § fERdr sFT W@ & T aurisHsRI o e foht ST

%l”
J9 TSR o A1 feu 7T Fed hi gise HINT | 3
reran
(@) “Hg1 1 qoagrE fopet Tsg o i ol Wicaried o dhal g |7
=T et o A1 QU T oM &1 gud A Wed i | 3
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Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below :

Assertion (A) : The equilibrium level of income is determined, when

ex-ante spending and ex-ante output are equal.

Reason (R): The equilibrium level of income may or may not be the
same as the full employment level of output.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

10. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : The maximum value of Marginal Propensity to Save

(MPS) can be unity.
Reason (R): At the break-even level of income, savings are zero.
Alternatives :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
11. (a) “Accommodating transactions are undertaken to maintain stability
in the Balance of Payments Account.”
Justify the given statement with valid explanation.
OR
(b)  “Depreciation of currency may promote exports of a nation.”
Defend or refute the given statement with valid arguments.
12-58/2/3 P.T.0.
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12. = QU T SRSl % SMUR W, "I ANG T Hehd TSR I1G (GNPp)

Hed I e hiT :
S 7 (¥ g@ 7)
(i) oGl o o 2,000
(ii) EXRICESIE 800
(iii) U 500
(iv) foraia &y 300
) AT 200
(vi) TeARTE 150
(vii) | Toce @ yrea g wed 3™ (=) 50

“fe qof Aeme =/ W, sifon g 1 aredfas @in sifem awgei &
qRlaeh 3cdTed | A 81, A 399 ATag= (Inventory) 3l U =
B Fhat 8 |7

FIT 39 feU T o ¥ Tgad @ 2 394 3T o 99 § 91 Ry AU | 4

13. ()

aterdn

(@) fmfciRaa arferet @i 90 SHINT | ™ % T 200 S h TR T ITHM
®ard o1 i i |
3T (Y) T (S) 71 37T IghT | HETT F=d yaqhd
(THSH)| (T HISH) (APC) (MPS)
0 (=) 50 — _

100 | e 1| e,

200 | e 34 |

300 | e 28 | e
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12. On the basis of the data given below, estimate the value of Gross

National Product at Factor Cost (GNPg() : 3
S.No. Items Amount
(< in crore)
i) Wages and Salaries 2,000
(ii) Rent and Interest 800
(iii) Corporate Tax 500
(iv) Undistributed Profit 300
(v) Dividend 200
(vi) Depreciation 150
(vii) Net factor income from abroad (=) 50

13. (a) “If actual demand for final goods falls short of the actual output of
final goods corresponding to full employment level, it may lead to

an unintended accumulation of inventories.”

Do you agree with the given statement ? Give valid reasons in

support of your answer. 4
OR
(b)  Complete the following table. Construct the consumption function
at ¥ 200 crore level of income. 4
Income (Y) | Savings (S) | Average Propensity Marginal
(in <crore) | (in Tcrore) | to Consume (APC) | Propensity to Save
(MPS)
0 (=) 50 — -
100 | .l 1
200 | .l 34 |
300 | .l 218 |

12-58/2/3 Page 11 P.T.O.
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feu e W ==t HifSw |

15. T shicqHeh fegaeen & fu, I8 #H «fifSu ff @R T 30,000 U i
T gremma o saft | stdereren # afafch 3T w1 80% UMW BT 7 |
AT H AW § Jhg qAT IFh IEI IUAM I H glg T AR

HIT |

16. (F) (1)  HISEO YIT HL YT HL o ALY 3T LI HIfT |

(i) TERRI I o GHTEAT o JH:3AE Ie2d ohl ST HiWT |

(@) 1) #m AfGe f v Freuafs adegaren & foau fafafga 1t
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TEgd fehu T F
e % (¥ ;?3 %)
(i) T AT 1,200
(i) TSTEd = 3,700
(iii) R e 2,000
(iv) U] shl IEA] 145
(v) ISTd = 500
(vi) fafaem 120
(vii) TS T YA 1,070
ToIEd ©1e 9 TSRS °1¢ shi AT HifSe |

(i)  HraSIeh JEUM AT oS -eh Icdled H A=l TIL

12-58/2/3

Page 12



M ™ collegebatch.con

i

I=ld
14. “An increase in the credit creation capacity of commercial banks has a

direct impact on the money supply in an economy.”

Discuss the given statement. 4

15. For a hypothetical economy, assume the government increased an
infrastructural investment by ¥ 30,000 crore. 80% of additional income is

consumed in the economy. Estimate the increase in income and the

corresponding increase in consumption expenditure in the economy. 4
16. (a) (1) Distinguish between direct tax and indirect tax with the
help of suitable examples. 3
(ii)) Explain the ‘reallocation of resources’ objective of
Government Budget. 3
OR
(b) @) Suppose the following data is presented for an imaginary
economy : 4
S.No. Items Amount
(in < Crore)
(1) Tax Receipts 1,200
(i1) Revenue Expenditure 3,700
(iii) Non-Tax Receipts 2,000
(iv) Recovery of Loans 145
(v) Capital Expenditure 500
(vi) Disinvestment 120
(vii) Interest Payments 1,070

Calculate Revenue Deficit and Fiscal Deficit.

(ii)  Differentiate between public provision and public
production. 2

12-58/2/3 Page 13 P.T.O.
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17. Tm=faRed T 1 eHqEes erE i

3cUTed Ufsham H 3Icuted & "ol g0 fau mu fvie u: fRqumest =t
ITT TY T JUTfId S Tohd 8 | 39 TR o IHTT 3 G- ATd AT &I &
TT=g TSR 3T 1 ATehl hid THT $¢ &I H T8l W@l 91l § | Adomeh 52
TR0 hgd & 9T I STRAId GehRIcHeh 37T AhNIcH 8l Tehdl & |

39 "9y H, Ty TUTEA Uiy dqed gHfTad & % e shred
TeI-gRuT 1 T AUl 3T o €4 H IGANT i ol GG <d ¢ |

Ha JoI-HaR A1 q Icdi W Iooh et IT HH Icdoid T il
<Rt HiE13E N9 IchsiH ol A 1 A I tar 2 | shied e, i 34,
Feh! o, ITMC Y HTEET o HIEIH & TAME 30 YehR shl ThRIcHs STl
I TUT A ATl GHA qohr1eh shl TR ITUEX B T YITE <d & |

feu U e qen AT wwE o ngR R, fefaiad gt & sw A

(i)  STRraIel i qRwTNd RN | 1
(i)  HhRIcHS o ThIIcHh STEIAIST % HET 3T TI% hHifNT | 2
(i) foeaR @ SaEy fob HeA gea-HgRer o Y g R earted fhar [T

EL 3

Qs @
TRA T aTTiefeh faerma
18. % RV FH o ffg SHEe gfg @ @ fEba w6 § aem
BT A1 |
(Th T WA & fotu Tt fashew &1 =m difse) 1

(A) 3T gur
(B) Wehd farg Hifa
(C) W8 A8 ATEhideh ShIld
(D) fomIv anfdfes &=
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17. Read the following text carefully :

Decisions taken by factors of production in the production process
often may affect the stakeholders indirectly. Such impacts at times are
huge but are not accounted for, while estimating national income.
Economists call them as externalities and they can be positive or

negative.

In this regard, many economists suggest carbon pricing as an

important tool to ensure ecological balance.

Carbon pricing tries to control greenhouse gas emissions by either
placing a fee on emitting or offering subsidies on lesser emission.
Through instruments like carbon tax, green cess, eco tax, etc. economists
suggest moving towards greener technology eliminating such negative

externalities.

On the basis of the given text and common understanding, answer the

following questions :

(1) Define externalities. 1

(i1))  Differentiate between positive and negative externalities. 2

(iii) Elaborate how and why carbon pricing should be promoted. 3
SECTION B

Indian Economic Development

18. China was able to control its rapid population growth rate owing
to

(Choose the correct alternative to fill in the blank) 1
(A)  Economic reforms
(B)  One-Child Policy
(C)  Great Proletarian Cultural Revolution

(D)  Special Economic Zones

12-58/2/3 Page 15 P.T.O.
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T 3, va s aff=mmrd . 5l S 3 faRian
off |

(f=h T W & fow @t faehew w1 =M i)

(A) IE 3T, AR 9 Y3eeh i Sfdeereas ifa

(B) WNd o i 9 3mma W fsifest werriten
(C) 9Ra & 3 fova & fo9u g =R

(D) e i ey

smgfehieRtur Tsh Tewaqul snifde fRnem 3ev 7, s T ohigd B |
(feh T 9 & Tote Tt foepew o1 =99 i)

(i) 7 MR @ s
(i) I HUR o FHE T
(iii) TR ST H FhNIHS THEd M

]%Wc[ :
(A)  hdd (i) (B) (i) 3 (i)
(C) (1) R (i) (D) (), (ii) 3T (iid)

ot T W ToTed! 2, S ariieufae Sgen s geifud e,
SATC @A 9 gfg 0 § T8 Bl 8 |
(Teh T WA & forw g&t foepew 1 =@ i)

(A) dRURH (B) Sfees
(C) THMEM® (D) & (Multi-layered)
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During the British rule, India’s foreign trade had various features except

(Choose the correct alternative to fill in the blank)
(A)  Restrictive policies of commodity production, trade and tariff
(B)  British monopoly over India’s exports and imports
(C)  Free trade from India to the rest of the world

(D) Large export surplus

Modernization is an important economic planning objective that focuses

on

(Choose the correct alternative to fill in the blank)
(1) Adoption of innovative technology
(i1))  Equal distribution of income and wealth

(iii)  Bringing positive changes in the social outlook

Alternatives :
(A)  Only (1) (B) () and (ii)
(C) (1) and (i11) (D) @), (i1) and (iii)

farming is a system that is helpful in restoring, maintaining

and enhancing the ecological balance.

(Choose the correct alternative to fill in the blank)
(A) Conventional (B) Organic

(C)  Chemical (D) Multi-layered
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23.

24.

QIS ST 9ehdl &, ST&l |
(Teh T wa & fore @&t fashed &1 =3m difse) 1
()  IRY H Sy, faeefi =mr 3 faw &= & gun 3 fee o 9
Gi) <R gea-fefor A Aifa s T off
(i) TR 7 fomiy snfdes &= 61 Hifq =i © * fm o

IEETR I

(A)  Had (i) (B) <had (ii)

(C) (i) 3R (i) (D) (@), (i) 3R (iii)
fFafafaa oAt =1 dfeu : stiiepeq (A) 3R #ror (R) | = e e fompedt o

o Tgt fashed ﬂﬁﬁ : 1
SYFHIT (A) : T oh (el H, WRA TIee] USTTREH Fglg hl T 1

T & R

HRU(R) :  USTTREH ddlg § acd 7, T UHl feufd Saf we srefeaasen
arfafies U 3cum fopr fomm oiferss aegeti SR Tameti o1
3cqTE i ° He B |

ICETE I

(A)  SARTHL (A) R HRU (R) gHI T & 3T HRT (R), 3IRHeA (A) i
T I Al 8 |

(B) AR (A) IR ST (R) Al TcT 8, Afhd HRUT (R), AMHAT (A)
1 &l AT FgT a1 B |

(C) AMYHAT (A) FcT B, Afehd ST (R) 3T 7 |

(D) AR (A) 3FET 8, Afehd R (R) T 7 |

frftfaa et &1 e Ydeh TeA HifT 1

FYT 1 : YA, e d 9 i Hifdes Qe guaarsti ¥ al il THEdar
7, T 3oh! TSHITeh Il foesha 94 7 |

FYT2 : YRA 9 UhEAH Al 5 Teh 5T ol & Tfohfdd o W At 5
e am |

feu U el % I H, Efaiad # 8 wEl faeed w1 =e hifv

(A) YT 19T g 3TN HeH 2 31T 7 |

(B) YT 13T 8 AN FII 2T 2 |

(C) YT 1R 2gHI acF B |

(D) A 13N 2 gHT 3FET & |
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The present day rapid industrial growth in China can be traced back to
the economic reforms introduced in 1978, where
(Choose the correct alternative to fill in the blank) 1

(1) initially reforms were initiated in agriculture, foreign trade and
investment sectors

(i1)  the policy of dual pricing was adopted

(iii) the Government revoked the policy of Special Economic Zones
Alternatives :

(A)  Only (1) (B)  Only (ii)

(C) (1) and (ii) (D) (@), (i1) and (ii1)

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below : 1

Assertion (A) : In the recent past, Indian economy has been facing the
problem of jobless growth.

Reason (R):  Jobless growth refers to a situation where an economy is
able to produce more goods and services without
generating additional employment.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

Read the following statements carefully : 1

Statement 1: India, Pakistan and China have similar physical
endowments, but totally different political systems.

Statement 2 : Both India and Pakistan laid great emphasis on creating
a large private sector.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

12-58/2/3 Page 19 P.T.O.
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T hINT | 1
ICET
(A) TN R Y 9 foamadl | o
(B) dodleh WIT d JIH W I
(C) FaEd W IT J [T G =Y
(D) T WY g Y W
26. iomH 1 H fou Tu #fierl o YR A Hiew 11 ° fou e %Ef i gefd 1 @
Jga™ hifeu - 1
Hicid I ity 11
1. | e o g™ o ATt G) | Fafra aqayef
2. | Fmior werE (i) | STenfees feaTt mergd
3. | Tafaer srfyman (engineer) (111) - fnfaa
ooy
(A) 1-(1); 2—(11); 3—(ii1) (B) 1-(i1); 2—(1); 3—(ii1)
(C) 1-(111); 2—(11); 3—(1) (D)  1-(G1); 2—(1); 3—(1)
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Identify the sources of Human Capital Formation and choose the correct
alternative to fill in the blanks. 1

Expenditure
on Education

Expenditure
on
Information

on On-the-
job Training
Alternatives :

(A)  Expenditure on Health and Expenditure on Schools

(B)  Expenditure on Technology and Expenditure on Knowledge
(C)  Expenditure on Migration and Expenditure on Knowledge
(D)  Expenditure on Health and Expenditure on Migration

From the type of workers given in Column I, identify the correct nature of

work in Column IT : 1
Column 1 Column I1
1. Cement shop owner (i) Regular salaried
2. Construction worker | (ii) | Casual wage workers
3. Civil engineer (iii) | Self-employed
Alternatives :
(A)  1-(1); 2—({i); 3—(iii) B)  1-(ii); 2—(1); 3—(iii)
(C)  1-(ib); 2—(11); 3—(1) (D) 1-(ii); 2—(1); 3—(ii)
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27. MU GER| I AT HH & WG, |
T 1 Ty foR B |

(feh T A & fore @t fashew o1 =@ difse) 1
(i) Y & 1 AR JgzH
i) Tocem & fatwo w srefes fvar
(iii)  TeHIfaeh e

forepey
(A) (1) AR (ii) (B) (i) 3T (iii)
(©) (), (i) 3R (iii) (D) () IR (i)
28. (%) “SIldTg-ATE (FEH-ROT) HRHHN 7 HIGATE 0T YU H AR hl 9
T g i g |7
fou T e 1 gfee Hifvw | 3
arerat
(@) “gun drenfieht v fose o wewaget fiee A wedt 7 17
feu U o W Hew § ==t hife | 3
29. feu wu fug hi =amEn HifSe qen 38 grifeafaess 3muer S99 9 U o fou foreft
Tsh WHIG Al e hifsy | 3

|

e : (HHIIREd J97 el grEaTiera qiterTiear & o7¢ Jv7 € 29 % € W e |

aofiy feht® & 3298 ol ITH A & fou fonegl @ wiHifaal o1 Sec@ hifsie | 3
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27. After the implementation of economic reforms, Pakistan experienced

slowdown of growth due to various reasons including

(Choose the correct alternative to fill in the blank) I
(1) Volatile performance of the agriculture sector
(i1))  Over-dependence on remittances from abroad
(iii)  Political instability

Alternatives :
(A) (1) and (ii) (B) (i) and (1i1)
(C) (1), (i1) and (iii) (D) (1) and (ii1)

28. (a) “Micro-credit programmes have helped to fill in the gaps in the
formal credit system.”

Justify the given statement. 3
OR
(b)  “Information Technology can play a crucial role in rural
development.”
Discuss briefly the given statement. 3
29. Interpret the given picture and explain any one strategy to control it from
becoming an ecological disaster. 3

-

-~

L™

.&E."“ >

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 29.
State any two strategies to achieve the objective of sustainable

development. 3
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30. TS Yt FH @ 8 AT feheal @l el oht == IR |

31. = feu U SAThgl & YR W, YRd 9 9 H 3Ided 9 U o &R

2018 — 2019 T TR AR Thel Yo (A (%) o &1F IR

o FHeT Jo Fela 7 IEr HIIGT HT 19T
YR | #7 | wifeeaT | YRa | | wifeear
Eak| 16 7 24 43 26 41
IEWT 30 41 19 25 28 24
gard 54 52 57 32 46 35
T 100 | 100 100 100 | 100 100

i : T 19 RUie 2019 : THRRT 37 1aised & 359G T@ab, 2019

32. ()
(@)
33. ()
(@)
12-58/2/3

forfes smee o A YR S & &1 g §9H aret foheal &1 Sl
1 ==t i |

AACAT

1991 & 31fdeh YU % RH TR g IRY fhu U o aeem |
R FaYa fohrgi gl IGRIT TR W T= hifrg |

(1)

(i1)

(iii)

(1)

(i1)

“srferar W TSt v # Fafig =i & ®9 § SR B, S8 918
sftreh e 2 17

FT I8 SR/ & | $REd 8 ? 39 3 & 9o o
9 o AT |

AT H SUSHIR o 3ATehel o fehral a1 Hidl ol 3ol hifT |

ad | Aigar e i WedTed i hl STaedehdl 6l &) 3
T T |

arerat

“areft &=t St gor o, o e | onfdfes miafafeRt | @ B
9rfiert & feres Bl 8 17

feu mu e i gfee Hifw |

T SUST <kl qRHTYg hifsre | foreft @1 & Icuted 9 TR W)
39 JUTEl 1 Sooi@ hify |
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30. Discuss any two benefits accruing from human capital formation.

4

31. On the basis of the data given below, discuss the shift in output and

employment sector-wise, in India and China :

Sectoral share of Employment and GVA (%) in 2018 - 2019

Sector Contribution to GVA Distribution of Workforce
India | China | Pakistan | India | China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100

Source : Human Development Report 2019 : Key Indicators of Asia and

Pacific, 2019

32. (a) Discuss any two factors that lead to stagnating Indian agriculture

sector during British rule.
OR

(b) Discuss any two liberalization measures pertaining to the tax

reforms, introduced by the government, during the economic
reform process of 1991.

33. (a (@)

(i1)

(iii)

b

(i1)

12-58/2/3

“Amita is a regular worker in a private firm that employs
twelve hired workers.”

Is she working in the formal/informal sector ? Give valid
reasons in support of your answer.

State any two sources of data on unemployment in India.
Elaborate the need to promote women’s education in India.

OR

“The participation rate of people in economic activities in

rural areas is more than that in urban areas.”

Justify the given statement.

N

Define disguised unemployment. State its implications on

output and employment in a country.
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frfcTRed e &1 e TErE hHINT

TAAAAT 3T WA hi SfEfeh Hifd 1 geda: 1948 @ fifies ifd @ehed &
el T YehR foam R o | 3ud Ui fEa 3NN % fash@ & Wiedned o,
FERAl i 9 TIHAHd o o AW H TR i IU R W 9 T =
o | 394 A9 & % folu s Afsha a yq@ fieht i afehedar 61 T8 off |

AT frEnfes Hifd Weped, 30 3T, 1956 H YU Al g TES & THET WAl
T AT | 39 Hehed H g T o B, “Unda 3e99 % w9 H feTawdl o
ATSETE] &d ol I o |- JioHTeg o i faehm 6l Tew=esdr 2 |
3 ToTU 7% srravaes § o gfverd) o amites agwe % wvfi SeEm steen A
39T BT Hresl-eh &7 o 3T g4 =T8T |

I I T AfG-ATEaTH g a1 NFH §g TqH W FHawr hi Tewehdl a8l 8
(STt et TSI & 9GH T Tohal 3), 3= ol Grdtfeh & o A g1 =1fgu |
MU UST &1 I & el foeprE & fofu ycuer Iaeerfca ugor sven g |7

g Fehed TN I T4 AR | affehd T &
o IMIT A H @ TE ugehl AN H UH IUW Wt &, Srem wiosy # fom
s <1 foow e gnft |

o TE{ UMt H, SAEET B H 9 I fGu U § S IO TS o E@ived ATl
B | graifes, 399 3 3egm @ oft wifierd) <6 3edfie b st |

o dEd ooft O 3w myft 3T Wt foham B, Rmem e o fasem T
& <l gt 9 3gH W R B |

few U T Qe W= wY % YR W, Fefaiad 9w o 3w N

() “9Nd WeR A, A% faem & Uiy awi # sfenfies foww o
TSt & o foTT St yfient W & fezm o |7

3 I % FHAH § NI od Y, 0 HIA hl Ifed HWT |

(i)  frenfies ifd Tehed, 1956 o ATIR fafy Sfo=i § ITwn o arffetor
h! FIET TEqd I HR == HINT |
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Read the following text carefully :

India’s industrial policy since independence has been shaped broadly in
terms of the Industrial Policy Resolution of 1948. It emphasized on the
sole responsibility of the government in the matter of promoting,
assisting and regulating the development of industries in the national
interest. It envisaged an active and dominant role of public sector.

The next Industrial Policy Resolution was placed before the Parliament
by the Prime Minister on 30t® April, 1956. It suggested that, “There is a
need for adoption of the socialist pattern of economy as the national
objective, along with the need for planned and rapid development. It
required that all industries of basic and strategic importance, or in public
utility services, should be in the public sector.

Other industries which are essential and require investment on a
massive scale (which only the State could provide) have also to be in the
public sector. Thus, the State has to assume direct responsibility for the
future development of industries.”

This Resolution classifies industries into three categories :

. The first category given in Schedule A, consists of industries the
future development of which will be the exclusive responsibility of
the State.

o In the second category given in Schedule B, are industries which

will be progressively State-owned. However, in them, private
enterprise will also be expected to participate.

o The third category comprises all the remaining industries, the
further development of which will be left to the initiative and
enterprise of the private sector.

On the basis of the given text and common understanding, answer the
following questions :

(1) “The Government of India, in the initial years of economic
development, emphasized on a greater role of the public sector in
the industrial development.”

Justify the statement, giving reasons in support of your answer.

(11)  Owutline and discuss the classification of industries into various
categories as per Industrial Policy Resolution, 1956.
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